Efficiency vs P,

~0.0%
o
£9.009
>
9.008
o
.007
0]
0.006
0.005
0.004
0.003
0.002
0.001

q

Ratio

0.5

. Gedf’

_._g M:‘m"\gﬁi%'glﬁbggﬂ ate n PLDN N
—— DQM™m Fltjgo t%gD UE ated- E/arDN
—— DQM™mKFit Sot CD-updated-TTbharDNN25
= 0.01
%) E
0009+ +rreresssdr b
Q o
@008_— ------------------------------------------------
[ E
007 -c-eeimemeredemnnn o
] E
0.006;— ------------------------------------------------
0.0052_ ................................................
0.004;— ------------------------------------------------
0.003f -+ cferesrerinenenendonnndind
0.002f -++++-feseeeo- Lo B B Beeeeen
O S S SISIEE SR
o q::.'..'..'.'..'..'.'..'..'.:.'..'..'.'..'..'.'..'..'.:.'..'.:.'..'..'.'..'.
kS L : : : : :
o I : : : : :
0.5[-----" AR SR R b P
9 21 0 T2

Efficiency vs ¢

& 0.01
2]
.009
[5)
$.008
o
£.007
(]
0.006
0.005
0.004

0.003
0.002

................................................

..................................................

................................................




	Contents
	Page 1


